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RETEST EXAMINATION -2015:}%(& /,," i
Semester : 2nd (Old Syllabus) Csrmyre ™
Subject Code : Me - 201
ENGINEERING MECHANICS
Full Marks —70
Time — Three hours

The figures in the margin indicate full marks
for the questions.

PART - A
Marks — 25
Answer all the questions from PART-A.

1. Choose the correct answer from the following :
1x5=5

(i) The efficiency of a lifting machine is the ratio
of

(a) its output to input
(b) work done by it to the work done on it

(¢) its mechanical advantage to its velocity
ratio

(d) All of the above.
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(b) A simple screw jack has a thread of pitch
12mm. Find the load that can be lifted by an
effort of 20N applied at the end of the handle
500m long. Take efficiency of the machine
as 50%. 4

10. Answer the following questions :

(i) State theorem of Perpendicular Axis. 2
(ii) Prove Lami’s theorem. 3

(i) Derive the relation among mechanical
advantage, velocity ratio and efficiency of a
simple lifting machine. 2

(iv) State principle of Resolution of Forces. 2
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